13/16 HOLE

ANGLE BRACE DETAIL
316 S.S. ANGLE STOCK
EINSTALL AT LOCATIONS)

4 ANGLE BRACES ITEM

*K” REQUIRED)

13/16"
T

x 1"

— BAR BRACE:
STAINLESS STEEL FLAT

UNDER BRIDGE CONDUIT ATTACHMENT

1/8"X2°%12'
BAR

/ 3/4” FLAT WASHER CAN BE
)/ OMITTED WHERE 1/’8” BAR
BRACE IS INSTALLED

[ (w6

BRIDGE DECK |

APPROACH PAVEMENT

FA. N COUN TOTAL |SHEET

RIE. SECTION COUNTY | SICTAL | SHE
3570 00-00116-00-BR DUPAGE | /06 | I
STA.  4+38.47 TO STA. 144624

FED. ROAD DIST. NO. |ILLINOIS| FED. AID PROJECT

CONTRACT 83827

B = s " 7 > g
) P . T, 4 : B j
a < 4 o
5 g . . < e fa e, .,
L8 z 4 M |—4 MINIMUM ONCRETE
: ENCASEMENT
5 COUPLING OR g SLEEVE BY
CONDUIT BENT IN N\, SCHEDULE 40 pvc OTHERS . ' U
HOT BOX ~ e /—SCHEDULE 40 PVC
/ ) !—ADAPTER (19) <a . - A
a VT N <
| | L
INSTALL SLEEVE COUPLING
SLEEVE COUPLING (ITEM 15)
TE: SLEEVE COUPLING ITEM - \~INSTALL 6-6" DIAMETER
(15) ALLOW YOU 1O 5 STEEL RIGID GALVANIZED
INSTALL LAST SECTION OF CONDUIT ITEM (18) (10" STRAIGHT SECTIONS)
PIPE TOGETHER. PO . 2 CONCRETE ENCASED
4 B THRU ABUTMENTS (1 HIGH BY 6 WIDE).
: 2 LOCATIONS.
BAR BR T 0 FRONT FACE R S 6" MINMUM GAP TO BE
. AR BRACE MUST NOT EXTEND ACROSS ANY - . — L FILLED BY
BAR BRACE COMPONENT LIST : . ‘ A OF ABUTMENT .
e A X (LENGTH AS NOTED) BRIDGE DECK EXPANSIONS OR A DIAPHRAGM LOCATIONS. N oy OTHERS
12" ‘ . y
BAR BRACE "A” ~— CONTRACTOR TO FIELD — P ! CONSTRUCTION NOTE:
(12" LENGTHS — 30PIECES REQUIRED) PUNCH, DRILL, FIT AND WELD | PR CONTRACTOR TO PURCHASE AND INSTALL RIDGID
.l i‘\\ABUTMENT CONDUIT AND ADAPTERS. .,
i = B ! CONTRACTOR TO PURCHASE 6" DIA. GALVANIZED
5 = — - s . e, RIDGID CONDUIT FROM CHAMPION CHARTER SALES AND SVC
R e S RERER - PR an Mo e L - ‘ % A N3602 NORTH US2
N P I R va Lo e sl . Qo : D r 0 Vi PO BOX 490
SEE EXPANSION, SETTING CHART SEE_DXPANSION SETTING CrART | IRON MOUNTAIN_ MICHIGAN 49801
C i A . - -
TO DETERMINE " \ TO DETERMINE < ‘ PHONE: 906-779-2360

(4 LOCATIONS) (ITFM 1)

(4 LOCATIONS)

(I\EM 1)

m”_;..;ff,—m;_;;

‘ _____,__1____

o -

F
OR

LOCATION FOR EXPANSION _/

JOINTS_ FOR
3, & 5.

OR_EXPANSION

CONDUITS 1

1S CONDUITS 2,
4, & 6.
g 5. 26" 5"

S
<]
=
5
-
=
[%2]
z
LCL) 90
{1e) 3’
=
F 1 BRIDGE DECK
= e —T
< A ! /BOTYOV) oF CONCRETE%: / W1 x 11
W f
. |
o
= 1 e
5 O— ! TT——/-BRACE CAN BE ADJUSTED AT
oo € -/0F & PvC - g THIS POINT BY ADJUSTING
E ( < ‘ i THE HEXNUTS
& 1/2" X 2" BAR | i A
E BRACE FIBERGLASS \ \; | -/

0 + \ T A}

1/16 1/8 3/16 1/4 5/16 3/8 7/16 V/<>/ \ i } @ \—BOTTOM
[ " P
DIMENSION X BAR BRACE: 1/8"2"12" _ - EOC%O)NS \ @ & WE 21X 111
INCHES PER 10" LENGTH OF CONDUIT STAINLESS STEEL FLAT BAR

BETWEEN RESTRAINT POINT AND

EXPANSION JOIN

T

EXPANSION SETTING CHART

1) INSERT NIPPLE INTO BODY UNTIL IT REACHES BOTTOM,
MARK NIPPLE AT END OF BODY.

2) PULL N\PPLC OUT OF BODY AND DETERMINE DISTANCE

CALCULATED FROM C

HART.

oy

FIELD DRILLED (ITEM 8)
SEE CONDUIT HANGER SECT&ON
(6 LOCATIONS)

|

THREADED ROD: 37"-3/4-10UNC
STAINLESS STEEL

ADJUSTABLE BRACE BAR

316 SS ROD AND BAR

INSTALL AT ONE LOCATION

(2 ITEM REQUIRED ITEM "L”)
PREFIT BEFORE INSTALLATION

PVC SPLIT STOP RINGS,

GLUE ONE 3" LONG SPLIT STOP RING
ON 0.D. OF PVC PIPE (ONE ON EACH
SIDE O BRACED SUPPORT HANGER)
ITEM (12) AND

SECTION THRU

7'~6" TO CENTER
OF SLIP COUPLING

3/4—10UNC THREADED
SUPPORT ROD \ﬂc

STAINLESS STEEL

HEXNUT: 3/4—10UNC :
LOCKWASHER & FLAT_\{

WASHER
STAINLESS STEEL
HEXNUT: 3/4-10UNC
LOCKWASHER
STAINLESS STEEL

HEXNUT: 3/4~10UNC
LOCKWASHER
STAINLESS STEEL

HEXNUT:
LOCKWASHER & FLAT
WASHER

STAINLESS STEEL

3/4—1QUNC THREADED/JJ

SUPPORT ROD

3/4=10UNC ™~

¥
!
1}

i
I

ABUTMENT

\

ANGLE ?2 X 25 X 25
STAINLESS STEEL

_~—CAPSCREW: 1/2-13UNC
HEXNUT, LOCK & FLAT
WASHER

STAINLESS STEEL

CAPSCREW: 1/2-13UNC
b HEXNUT, LOCK & FLAT
B~ wases

STAINLESS STEEL

N-ANGLE 2-2 X 2.5 X .25
STAINLESS STEEL

FAX: 906—-779-2367

CITY OF NAPERVILLE/DEPARTMENT OF PUBLIC UTILITIES — ELECTRIC

STAINLESS  STEEL o 3
SECTION. AT MIDSPAN 8 CALL J.U.LLE. 48 HRS. PRIOR TO CONSTRUCTION 2
B o SIDE VIEW PROTE(Z%I}TELERSON 5 ‘ Al 1 ATt VAP NO.: CAD FILE: DWG
SECTION AT MIDSPAN | JE AV. BRIDGE DUCTBANK INSTALLATION - 005467900106.0WG
eSOl PROJECT DESCRIPTION DRAWN BY: PROJECT NO.:
{COORDINATED WITH BRIDGE IMPROVEMENT PM | EU13-04-06
DATE 45901 WORK REQUEST NQ.| CHKD: - AMERITECH: COMPLETED 8Y:
[ISSUED _
ENGINEER| PSM 54679 e SOHLE "
REVISION 7 Z 3 NTS SHEET 6 OF 30




